John Boos & Co.
315 S. First Street
P.O. Box 609
\\Server2\drawings\logos\Boos_c700.jpg Efﬂngham y IL 62401
(217) 347-7701 / Fax (217) 347-7705
Email: sales@johnboos.com
Web Site: www.johnboos.com

ASSEMBLY INSTRUCTIONS FOR
"BAK" MAPLE WORK TABLE w/SHELF, BUN PAN

RACK & CASTERS
PARTS: HARDWARE: TOOLS REQUIRED:
TABLE TOP ALLEN WRENCH PHILLIPS HEAD SCREWDRIVER
4 - STAINLESS STEEL LEGS 4 - #10x3/4 PHILLIPS HEAD WOODSCREWS 7/16 WRENCH
4 - 5" LOCKING CASTERS 4 - 1/4-20x3/8 PHILLIPS HEAD MACHINE SCREWS
ADJUSTABLE SHELF 4 - 1/4 WASHERS
BUN PAN RACK 4 -1/4 NUTS

NOTE: ALL SET SCREW SOCKETS MUST BE FILLED WITH SILICON CAULK AFTER SCREWS HAVE BEEN TIGHTENED.
THIS IS DONE TO COMPLY WITH NSF'S 'EASILY CLEANABLE' REQUIREMENTS.

INSTRUCTIONS:

1)  Turn table top upside down on a clean surface to avoid scratching. Assistance will be needed.

2) Place legs into gussets (leg sockets). Do not tighten set screw at this time.

3) Remove protective polyethylene film from shelf and bun pan rack.

4) Attach bun pan rack sides to shelf using one 1/4-20x3/8 Phillips Head Machine Screw, one 1/4 flat washer and one
1/4 nut per hole. See illustration. Note: wider slotted mounting hole in bun pan rack side mates to shelf.

5) With assistance, position shelf with bun pan rack between legs so mounting holes in the top of the bun pan rack
match up with predrilled mounting holes in underside of wood top.

6) Tighten set screw in shelf using Allen Wrench.

7) Attach top of bun pan rack to underside of wood top using #10x3/4 Phillips head Woodscrew.

8) Level shelf and square bun pan rack as needed.

9) Secure legs in to leg gussets using Allen Wrench provided. Note: After all set screws have been tightened, the
socket must be filled with any type of silicon caulk.

10) Attach casters to legs. See separate assembly instructions.

11) With assistance, turn table right side up.

; 12-30-10
For proper care, refer to Maintenance Sheet enclosed. (PG 2)




